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When we went over the
grade 8 exam, | told you that:

() =r [ 2=

In other words, 37,4"'/1< and _ua®_ VU0 Hng are opposites!

(Like ad ﬂingfsubgucrfnﬁ’ér mu.‘ﬂpﬁp’?n g/dividing)

... But why? /]
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What if we start with the area? I

, e
q Area:A:lE! :/é

In Summary: | #1. 1

= ¥l =9
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#2. l? W
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#1, — #2. /
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#2. — #1.

A< ()

This shows that, Sfi{f L I‘If?,{ and 'iﬂ vare. [ "il’;‘."-'r?'*ﬁ‘tf! are opposites!
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Perfect Squares — Any "—*Jﬁﬂu“{gf number squared!
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Let's try some problems with roots...
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What happens if we take the square root of a number that isn’t a perfect square? @"
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